& oy concars Propertiesof Equaity

Addition Property Ifa =b,thena +c=b + ¢

Subtraction Property Ifa=b,thena—c=b —c

Multiplication Property Ifa=bthena-c=bh-c

Division Property Ifa=bandc # 0, theng = %

Reflexive Property a=a

Symmetric Property Ifa = b,then b = a.

Transitive Property Ifa=>bandb = c,thena = c.

Substitution Property If a = b, then b can replace @ in any expression.

You also assume that other properties from algebra are true.

‘ Key Concepts Property The Distributive Property

a(b+c¢) =ab + ac

IXL #5 - 1.2 & 1.3 due Friday, Oct. 5th!

. l(ev coneep’rs Properties of Congruence

Reflexive Property AB = AB
LA=LA

Symmetric Property If AB = CD, then CD = AB.
If LA = £B,then £LB = LA.

Transitive Property 1f AB= CDand CD = EF, then AB = EF.
If LA = £Band £B = 4C, then LA = 2C.




Name each property being used.

1. AB= AB ?’(X( ’P[DP O'Pwnéz,

2. Ifx=2and x=y, theny=2.
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3. Ifx =3 and 2x + 7 = 4y, then 2(3) + 7 = 4y.

SWpst- 7107 &

4.1f LA= /B, then LB = /A
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5. Which of the following is an example of the Reflexive Property of Equality?
Clfx=-2,thenx+4 =-2+4.

@x-Z:x-Z
Cify=x+4,thenx+ 4 =y.
Cifx-2=yandy =4, thenx - 2 = 4.

6. Fill in the missing information in the proof below.

Given: AC = 36
3x 2x +1
A B c
Statements Justifications
1. AB+BC=AC 1. : \szk
2. = . Substitution .
ST Combine | (He ferm)

2
3

4. :36_ 4. Subtraction Property of Equali
5



Section 2-4 Cont.
1.) Solve for n.

Given: XY = 42
XZ+ZY = XY

3(n+4)+3n=42

3n+ 12 + 3n = 42

6n + 12 = 42
6n = 30
n=>,5
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2.) Algebra Give a reason for each step.

%x =5 =10
1. _ )
2(3x = 5) =20
x — 10 = 20

x = 30



3) 5(x +3) = —4 Gj\'cg+ ﬂ)‘)
S+ 15 = —4 a5t PrV
sc— 19 bt PIOP
e S MR 0%

Use the given property to complete each statement.

4.) Addition Property of Equality

Ifx=25,thenx+ 3= 8'
D+3



5.) Division Property of Equality
If 2(AX) = 4(BY), then AX = \

Za 2=

6.) Distributive Property

2(4x + 5) = Z-J('HO




7.) Transitive Property of Congruence

~J
If /B=/T and /B= /Y, thenlj_:- A?‘



